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General Instructions :
(i) All questions are compulsory.
(ii1) There are total 24 questions in all.
(iii) Marks for each question are indicated against it.
(iv) Questions I to 5 are Very Short Answer type, carrying 1 mark each.
(v)  Questions 6 to 10 are Short Answer-I Type questions carrying 2 marks each.
(vi) Questions 11 to 17 are Long Answer-I Type questions carrying 3 marks each.
(vii) Questions 18 to 21 are Long Answer-II Type questions carrying 4 marks each.
(viii) Questions 22 to 24 are Essay Answer Type questions carrying 6 marks each.
(ix) Answers should be brief and to the point.

(x) Please write down the serial number of the question before attempting it.

[. e U hueh GREAR § TSl & | Th {7 98 30 SeAlfosH T e’ 1 * hiv &M
HRIhA’ Q@ &1 AT | HIIshH bl IMHeh AT “THHTFGHT i ol Tarehira foham ST 2 318g o1
3cqTEH b ST 2 35t ShishH H aqUH Fgehil SiH{al < HIEIH | I8¢ o ToauH 1
oft ==t 81 W@l At | TF J AYufaadl o1 faeh™ o 3dTed I8¢ i a9 i i 01
fora | 3T o= &3 6t 9g=™ ST {9 TeiH &l 39 Ta=ar i Scdd ¥ Tdr sl
I8 HYATRGAT T hTH h IEE I [TV HL Tob | 1

Naveen belongs to a farmer family. One day he was viewing °‘Kirshi Darshan’
programme of ‘Doordarshan’ on his television. The heading of the programme was on
‘How to grow honey-bees and produce honey’ ? In the same programme the methods
of marketing honey through marketing cooperative societies were also being
discussed. Naveen decided to grow honey-bees and market the honey produced.
Identity the 1dea field. which helped Naveen in generating the idea of growing honey-
bees and marketing the honey.

2. ‘UGl gEH e 1 FT AU 7 7 1

What is meant by ‘Environment Scanning’ ?
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‘ST At o SAfafea 37 g1 garesil ohi Tt I fSeh TR 9 e o S
1 g fohar ST 8 | 1

List the two documents other than “The Companies Act’ on the basis of which the
scope of a company 1s determined.

TRl TTshaT o J2H ofH =07 & : TR 3c0= gHT, THT a1 STRESHE | 39 <071 hl
T 3T ohE 1 i oreH 375 quT TohaT ST 8 | 1

The first three steps in the process of creativity are : idea germination, preparation and
incubation. List the remaining two steps in the order in which they are followed.

“Tr9uTH SIECEHT Bl R AU 8 7 1
What 1s meant by ‘marketing strategy’ ?

3T W g 39 I T 9H SR, IR Ahardl shi Ueh $oil T8 JASTIAH AT & b
STSTR <h] T T8 31T JTEPAhdl B | I STILTOT hT TH Sd1ST q2T 37 eifo fS@eh
TERAT T o Wi | 37k b | 2
One of the keys to business success 1s to anticipate what the market will want or need

before the entrepreneurs are aware of it themselves. Name and give the meaning of the
concept with the help of which they can see into the future.

39 3Tk Tfafeies &1 919 Sdsu a7 37 ol S Sehicdl, TIfehceehl, TS UhiS<<i
qAT HHIHt Fiee] gRT (H8aTTed shi SITal & | 2

Name and give the meaning of the economic activity that 1s performed by lawyers,
doctors, chartered accountants and company secretaries.

3oy Huier & forgl 1 HaHT &1 9H=sy | 2

Explain any two rules for goal setting.

T 3 TS TSN § IR TSI o 37 Tt | @ S Mg ° T 10 R o AR
foaer & T 7l @ SHIEE S Y& 61 | 38T 39 fuars | 5,00,000 €T 3194
i F@1 9 T 3,00,000 =1 071 ot fofaT | ©: HEH U, 3794 SGHH o o) o fole 39
T 212 TEgw B3 foh SHaa™ o1 3T AT fory sh SATevaehdl § | 37d: 38 &9 ¥ Treh
TTY TohaT, ST Teh FaT-THad JTUhRT AT T 6T YohR o AT H 3THI T Te=Ivdl
T B o FTY-HTY 35h 3T e ara-g Wi ¥ | g0 I8 ot SIear o1 fob 2rea o
AT SRy FfEd BH o HRUT 3TH S -Ufdhel ehl THEAT 2 | 31d: 98 Ud & aqH
T ¥ 7 @ T o T 39 1 o T TEHd & T b Q1 9y Ug=d 39 g fHawt i 18
31 ! Tmar  uitataa s feam s |

ford Wbl ehid b ToTT U I Yo HTd Sh1 A9 SdT8U d4T 36 HHSATST | 2
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10.

11.

12.

13.

98

Ravi started an organic food processing unit in his village situated on National
Highway Number 8 in Alwar district of Rajasthan with an initial investment of [1 10
lakhs. He also took a loan of ['1 5,00,000 from his father and a loan of (] 3,00,000 from
his friend Naresh. After six months, for the expansion of his business he again felt that
business required more funds. So he contacted Harish, who was a retired executive and
had expertise and experience in similar type of business besides his good industry
connections. Harish also knew that because of high-risk involved in the business there
was a possibility of high return. Therefore, he agreed to invest | 7 lakhs in Ravi’s
business with a condition that the amount invested by him will be converted into
equity after two years.

Name and explain the source of raising finance used by Ravi.

SITST T L o Jd AT JeIg | Ud TIEIeH o q9d1q Ueh SFaE™ 1 3G o9 T 2,00,000
AT | B | T 5,000 T ST TAUT X 6,000 h L T WA fhAT | 99 F T 3,000 T HeIA5TE
ST TTT T QT &ATHd bl T 1,000 & TRETRIG Toham T o7 |

SHI3SIEIT (EBITDA) <hl 0T h1fU |

The net profit of a business before interest and tax but after depreciation and

amortization was [ 2,00,000. The firm paid interest of [ 5,000 and tax of [ 6,000.

The depreciation charged during the year was | 3,000 and the value of goodwaill
amortized was [ ] 1,000.

Calculate EBITDA.
fofiar yeg 1 R AL B ? 3T I BT Soci@ Shifay |

What 1s meant by financial management ? State its objectives.

= =T | FHAT 9 T <hl TUHET hTT
gsit % 3,00,000
10% 9 1,00,000

SIS e 3 &1 T 70,000.
g Hi Ieoi@ HIT foh Ufd 393 Ush ARG HAT T I8 T =T BT 7

From the following information calculate Return on Equity :
Capital L] 3,00,000
10% Loan [] 1,00,000

Net profit before interest [| 70,000.
Also state the return on rupees per lakh of equity.

8 AT T < THS oh ST ST hi $hIg hl TATIHT T (U ToTaT | I8 T o Taii=
T3l i ffcse T aTett weh THEiian fohaT | 319 o 3794 GRI SR T T3 i Tsiishd

HUAT IT8d 2 | 3k g S-- W E3 o JhR <hl GEHTE hilsU T S8k TstIhlUl ohi
SIERIEICUEEA S

Singh and Gupta decided to start a leather bags manutfacturing unit. They entered 1nto
an agreement stipulating the different aspects of business. Now they want to register
the organization they have formed. Identify the form of organization formed by them
and describe the procedure of its registration.
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14. TS qYT TG Teh AISIaH AT 2 fSeh! o a9 6l Teh st UIHT 8 | Tt ol Mo uh
TEUS hU-1 H g qT 98 T H UgEY 7 | TS Wi THU™ | Tsh 317381, BH o U %
€] U SR g a9 304 gE-Tg & @Y gevfl ool &l b Hhid Hd Edl
8 | 98 37T AT S Teh AAIhiud S—aIfeT et H Yo¥T [Ger T dTed! &, T 98 Tholl |
ST | 3EHY g qUT Uh UHT Thel (S9H 98 3191 9T ol JoiF1 TeedT Ui, shl T8dM A&l ohi
TS 2 | IE 39 HEE W gL o A1 famm- s e | g5 3 g o ugee i qun
11 Sl HeTE &l Tob I8 Weh ShrRIIT LT shl e whe ST Teoedt a1 v Hi. 311, 1 &d
Thedl o daETEe ¥ U0 Jo9T o a1 H 37Tehe TehiAd i | I MG ol T dTHTEe
www.nurseryadmission.com ¥ I[& i 1 HATE Gl AUT 38 W ThAd 3lhs HIAIS
A ! HEl dlich Fo 3 8 GEL TS Wi 3194 S o T o TeTT ITANT L Heh |
1Al 9 TS hl HeATg HHT T Teh HFIEL UL hl HIfdd i | 38 39 3704 =
qaU< T vt g Iueted U | §gd AR AMNWEehl 4 T 100 Ufd e Aiers
A L 1T gRT IE ohl T2 dedTse ¢@ |

(%) ST ATT¢ H Afvid STHT FALRIT hi TgaM hiY |
(W) 3H IFURON A ITeAT shl fohd ThR TERIT hl, Iooid iU |

(71)  UH TohEl Tk Yo ol T hifSTC [STEehl FLS TUT TG H UTetH hid shl =sT hl | 3

Suraj and Chandni are a young couple having a three years old daughter Roshni. Suraj
1s employed with a multinational company and i1s posted in Spain. Chandni 1s also
working as an executive with an IT firm in Gurugram and 1s staying with her in-laws
in a locality-of South Delhi. She wants to admit her daughter 1n a reputed day boarding
school, but i unable to visit the schools and identify one where she could admit
Roshni. She discussed the problem with Suraj. Suraj identified the problem and
advised Chandni to hire a computer operator who could collect data related to
admission 1n nursery class visiting the websites of different schools located in Delhi
and NCR. He also advised Chandni to launch her own website
www.nurseryadmission.com and upload the data so collected on 1t so that the same
could be used by other parents like them for admission of their wards. Chandni
followed the advise of Suraj and appointed a computer operator. She provided all
facilities to him 1n the basement of her home. Large number of parents visited the
website started by Chandni on an online payment of X 100 per visit.

(a) Identify the entrepreneurship concept discussed in the above para.
(b) State how this concept is helped Chandni.

(¢) State any one value that Suraj and Chandni tried to emulate.
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15. ‘AR HH bl Teheal diF [ORISAT3T ol &9 H HHATSU | 3

Brietly explain any three characteristics of ‘trading’.

16. 37 URfeafaa o1 Seorg il ook T SHaET T ol Ushel WTitcd W&y U aidl & | 3

State the circumstances under which the sole-proprietorship form of business
organization 1s suitable.

17. ‘g THsSM WueR’ U a1 TE o WTficd aTell Ueh |G %Y off | STl Teal g™
TS AT o ETHes JTefl gadl ARl ®H &t | TH 91 7Y 3 : 2 o 4T H A1 Sied
o qAT GF T ST 1 : 4 o 3TUTd § 1Y §led U | HI BH ShIcThIdl shl Teh A
qTehe U T off e Welcaeh Iad™ S Wl A | Ig [SeH YUK o HTeigR TH + ¢@T
feh 37eh =I5 | UTEeh &Y TR § ¥ a7 TG Yg FsaT= WUSK shi IETE 91T o Gor Wil
4 ot Giet I a ®H §gd 3Tfeh o1y 3Tfeid hall || sTTel! Weal i ot &1 fefa off |
3eh UTgeh W I <h TV~ OAT GL-GL o Wl § ¥ | Teh & Teh |Te 193 o O, T
SRR T GHI BHI o ATICR el | §HFI BAl o HTSGR ST U Toh 3eh! HBHI ol TAIEh
TR /& 9 | 37d: THererd i oh YR 9 378 Teh BH gRI Gadl shl SAT4fRd hid
oI ==l ol | 39 33 o oI AT STUATHEH AT i 3ATdH Y ¢ o ToT¢ o QN (Held
foTu @gma 81 T | 3F<a: 1-1-2016 1 WER TEAMd & T ol T2 Ial W g TH3H
YR = ‘STl Teetl’ ohT ST o fora |
(3) Ueh HIfg—TgTeHT1 o &Y H ‘UG T 3 ST |

(&) MUz o 70 SR=PT ° A0 ST Hohd I feheal €l 31T aiiehl o1 Hi Sooig shifoTu | 3

‘Shudh Mishthan Bhandar® was a partnership firm owned by Ram and Madhur.
‘Bengali Rasgoola® was another partnership firm owned by Das and Sengupta. Ram
and Madhur were sharing profits in the ratio of 3:2 and Das and Sengupta used to
share profits in }:4 ratio. Both the firms were situated in a famous market of Kolkatta
and were doing competitive business. Ram, the partner of Shudh Misthan Bhandar
observed that many of their customers were from far off areas and if branches of
Shudh Misthan Bhandar are also opened in other parts of the city the firm will be able
to earn huge profits. Similar was the situation of Bangali Rasgoola. Their customers
were also from the different and far off places of the city. One day in a function at a
common friends house the partners ot both the firms met. The partners of both the
firms knew that the internal expansion of their respective firms will be costly. Hence,
they discussed about the acquisition of one of the firms by another on friendly terms.
For this purpose they agreed to meet once again to finalize the formalities. Finally, on
1-1-2016 ‘Shudh Mishthan Bhandar’ acquired the business of ‘Bengali Rasgoola’ on
mutually agreed terms and conditions.

(a) Give the meaning of ‘Acquisition’ as a growth strategy.
(b)  State any other two ways which can be used for acquisition.

18. ST ST bl AT 3 & ? 38eh dwdl ohl H&T H HHEATEY | 4

What 1s meant by an operational plan ? Briefly explain its elements.
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19. “forawor fasyy’ <19 312 2 2 Torawer aream <6 fopgl 9 TehI k1 H&9 H U4 shifu | 4

2

What 1s meant by ‘distribution mix’ ? Describe briefly any three types of channels of

distribution.

20. ‘TS 7o Uread foifiies’ shi Jedd S 3194 81e1 &l H 99 Jad JH1-eh IFR Shi S[ET b JadH
$l FE-THT % TR § Toar-fous & @l ot | 9 g7 3fushrl 1 ufeald 7 e 9
S, MR o A= qUT AT o AT H IWHAT G {r=m-fomsl L @ & | BH 6 T
TR I 31 IWEAT o T 3T o A9 H bR a1 ot | I=/H I i Th G¢H
AT 9 ATSH ¥ HI qAT A8 o 419 T oh STHAT H L TIS hid o (AT haT |
AT 9 39 SF1 SYTTHAT oh HET 37X bl 918, adH, TRATIH TT I8N o 3ATHR UL T
fopar | & AR ol HI STTEAT o SR T X TISC 31 7T qUT 3G ATHAT b i ol
TUEAT hl | SAT3T Tob TIHAT QHI STTHAT o6 SR H AR ohd T ¥ TS I ITg B | 4

The promotion team of ‘Good Health Products Ltd” was discussing the strategy for the
promotion of their newly introduced sugar free organic fruit juices. They were
discussing ‘above-the-line’, ‘below-the-line’ and ‘through-the-line’ approaches in the
presence of the chief executive of the company. The chiet executive was not aware
about the difference between these approaches. He asked one of the team members
Nameeta to explain him the difference between ‘above-the-line” and ‘below-the-line’
approaches of promotion. Nameeta explained the difference between these two
approaches on the basis of target, promotions, measurability and examples. The chiet
executive understood clearly the difference between the two approaches and
appreciated the efforts of Nameeta. Narrate how Nameeta could have differentiated
between the two approaches.

21. ST AUT Siiel Ueh GG ®BH 9ol 1§ 9 | B e S8 o IcdTed adT v H H il g5 & | ST
ITe dUT S SIGER b 3T TG <hl <@ HLdT AT | BH <3 F99™ R & oA

AT I B S H 31k AT HAT &l &t | 37T IR UTgeh| aUT FId™ H e,
31T TN b F1Y 31231 AT | o AT o1 §gd EdHl § dIR Hd & | d 3794 M1

IAeTRice Wi I9Tel 9 & f99rd o |
() ST QT e Jeeh T qIR Toha 7T ferE Teh SISTE hl THETST |

(@) S qAT S R 3791 T Teheal gl Gedl bl Ug= shilay | 4

John and Jeev were running a partnership firm. The firm 1s engaged in the production
and marketing of fruit juice. John was looking after the production and Jeev used to
look after the remaining operations of the business. The firm was doing good business
and earning profits more than the rate of profit of the industry. They used to be fair in
therr dealings with the customers and other stakeholders of the business. They used to
do theirr budgeting very meticulously. They also used to discharge their social
responsibilities effectively.

(a) Explain any one type of budget prepared each by John and Jeev.
(b) Identity any two values observed by John and Jeev.
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22. I A, Teh FAEHET $o9h H J@l SHEldl Il el &d &, A3l & fou ueh
TGt S8l hl Goh 3TRY <hl | 38eh 3HUeh JATE o STS[G 98 319 STTE™ H ¥hel 31 &l

geh! | U Torgl ©: RN ] GHETST S St o, SI9E™ U et 89 o6 ShiuT 81 Hehd @ | 6

Jaishree started a readymade garments shop for ladies in a residential area where
mostly government servants live. Inspite of her best efforts she could not succeed in
her business. Explain any six causes that could have been the reason for the failure ot
Jaishree’s business.

23. I T Tehdd Wiicd 9Tl SFa9™ & HiA] dadl & | 3ThT M & b 3Tt afa ay
fasha T 15 A 9 AT g | 39k T8 31He 3 39 ¥R {491 ¥ 9.0 TH.(PAN) 9K
o 1 T8 & | G 1.0 (PAN) &1 31 qUT T& STHAT 918dl o a1 I8 o ST
a1 91 fop 9 19 9 991 8 59 98 N.0. 0. (PAN) e gHT IM80 | 37Ha 3 39
f.U.TH. (PAN) &1 3 TUT U U a7 99 AR o 918 F.T.TH. (PAN) &I 8T
8T 3ok TawT H Hi GHST | IuUed o a4 H
(%) UIL.W.TH.(PAN) 1 31 U7 A 3G TG ¥ I 18 @ © 3ATet = T bl THET |
(@) 3 = ot 1 ft Ieorg FifST e 99 .80 (PAN) h1g 8FT 918U | 6

Suresh wanted to start a sole-proprietorship form of business. He expects that his
annual turnover 1s likely to be more than [] 15 lakhs. His friend Anil advised him to
obtain a PAN number from Income Tax Department. Suresh wanted to know the
meaning and importance of PAN and also the parties who must have a PAN card. Anil
explained him the meaning and importance of PAN and also explained the different
parties who must have PAN card. In the light of the above :

(a) Give the meaning and importance of PAN as described by Anil with Suresh.

(b) Also, state the various parties that must have a PAN card.

24. I Ueh [AIRTSS foildl LA & TSTEeh! TATHAT 1 [eA1g, 1948 o1 TS b Teh (o= JTUHIT g
Teh AYTHeh [HITH o &6 H h! T8 ot | 1 S[eT1g, 1993 i 8 Teh ATaSTHeh -1 T TREfdd oY
T TR | ETehT O Sevd JAUSIAEAT b (A & H TG 3TN ITHT ohl HEThIeTH
AT STElehTeA 111 3R0T JgH <hIAT 8, TarISe: 39 381 | Siaf s g 3qesy T8 8 |
(%) IYUed 3T=¢ | Afvrd i TR ol U89 shifau |
(W) o1 39U (k) H I8 T i S99 9 Ueh 3TEreh dreierit BH /0T of Gehdl

2 7 3794 I o GHA T T ST |

(7))  IEAM Tohd T TEAH o Tehal Gl 3291 a1 Tohral gl H&T I ol Icoi@ hITwT | 6

It 1s a specialized financial institution which was established as a statutory corporation
on 1% July, 1948, by a Special Act of Parliament. On 1* July, 1993 it was converted
into a public limited company. Its main object 1s to provide medium and long term
credit to eligible industrial enterprises in corporate sector of the economy, particularly
in those 1industries in which banking facilities are not available.

(a) Identity the financial institution described in the above para.

(b) Can a partnership firm engaged in manufacturing obtain loan from the financial

institution identified in (a) above ? Give reason 1n support of your answer.

(¢) State any two objectives and any two main functions of the institution identified.
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